
Cambridge International Examinations
Cambridge International Advanced Subsidiary and Advanced Level

This document consists of 2 printed pages.

DC (RW) 71868/5

© UCLES 2014 [Turn over

*
5
3
6
4
8
5
8
6
0
9
*

SOCIOLOGY 9699/11

Paper 1  The Family May/June 2014

 1 hour 30 minutes

Additional Materials: Answer Booklet/Paper

READ THESE INSTRUCTIONS FIRST

If you have been given an Answer Booklet, follow the instructions on the front cover of the Booklet.

Write your Centre number, candidate number and name on all the work you hand in.

Write in dark blue or black pen.

Do not use staples, paper clips, highlighters, glue or correction fluid.

Answer Question 1 and either Question 2 or Question 3.

DO NOT WRITE IN ANY BARCODES.

At the end of the examination, fasten all your work securely together.

The number of marks is given in brackets [ ] at the end of each question or part question.



2

9699/11/M/J/14© UCLES 2014

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every 

reasonable effort has been made by the publisher (UCLES) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the 

publisher will be pleased to make amends at the earliest possible opportunity.

Cambridge International Examinations is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of University of Cambridge Local 

Examinations Syndicate (UCLES), which is itself a department of the University of Cambridge.

Section A

Answer question 1

1 Sociologists frequently use the term ‘traditional’ to refer to families that are made up of heterosexual 
parents and their children. These traditional types of family can also be extended to include other 
kin. When a family structure fits perfectly into this pattern it is called an ideal type, but many families 
do not fit the ideal type perfectly. Examples of these variations include beanpole and lone-parent 
families in which a growing number of people live in modern industrial societies.

 Many households are also made up of an individual living alone; these households are not 
families even though the individuals living in them may have kin. The development of single person 
households and other alternative types of living arrangements has led some sociologists to argue 
that the traditional family is in decline in modern industrial societies.

 (a) What is meant by the term beanpole family? [2]

 (b) Describe two reasons for the increase in the number of lone-parent families. [4]

 (c) Explain why more individuals may choose to live alone in modern industrial societies than in 
the past. [8]

 (d) Assess the extent to which ‘traditional families’ are disappearing in modern industrial societies.
 [11]

Section B

Answer either question 2 or question 3

2 Explain and assess the functionalist view that the nuclear family ‘fits’ the needs of society. [25]

3 ‘The elderly are a disadvantaged group in most societies.’ Explain and assess this view. [25]


